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Quant Mega Quiz for SSC CGL Tier-II

Q1. A businessman sells a commodity at 10% profit. If he had bought it at 10% less and sold it for
Rs. 2 less, then he would have gained 162%. The cost price of the commodity is

T ATIRT 10% ATH I TF 961 9947 gl AR 98 T 10% FF I @O=AT 3T T8 2 9 FFH I a9aT, q1 39
16-% T AT STH XTI T F1 77 T FT 82

(a) Rs.32

(b) Rs. 36

(c) Rs. 40
(d) Rs. 48

Q2. A trader sells 20 kg of sugar at Rs. 400.A customer asks 20% discount and he agreed to it but
instead of 1 kg he gives 4% less sugar. What is the effective discount that the customer gets?

T AMRT 20 T ST 400 AT 9T 91T gl TF ATe® 20% & HATGT & M a8 T I AT of J1ar §
At ag 1 T & T3 § 4% 7 D <qT {1 TTeF it TR areit THTET Fe 7T 82

(a) 16%

(b) 16.66%

(c) 15.5%

(d) 19.6%

Q3. Half of 100 articles were sold at a profit of 20% and the rest at a profit of 40%. If all of the
article had been sold at a profit of 25%, the total profit would have been Rs. 100 less than earlier
profit. The cost price of each article was

100 T F & 3reft TFqW 20% F ATH I ST AW 40% F AT G 41 101 Ff ot aeq0 25% & AT )
FT ST, IT o ATH Gd AT & 100 T4C F7 AT TAH € FT 577 T F9T 97?7

(a) Rs. 10

(b) Rs. 15

(c) Rs. 20

(d) Rs. 30

Q4. One trader calculates the percentage of profit on the buying
price and another calculates on the selling price. When their TEST SERIES
selling prices are the same, then the difference of their actual Bilingual

profits is Rs. 85 and both claim to have made 20% profit. Whatis = Special Offer
the selling price of each?

TF AT @de qea 9= AT wfaera it 1oEr F2ar g s gawr A =

fawa g ATy afdaa &Y AT FLaT g T I AT T G0 g SSC CGL TIER-II
%F, ar S9% aredfads T &7 3(q< 85 3y a\ldl g AT 9 20% AT Previous Years' Papers of 2011-2018
FHTA FT AT HLA &1 TA & AFT ToT FT1 8?2

(a) Rs. 1700 29 TOTAL TESTS

(b) Rs. 2100

o ke 3750 Validity : 1 Month
S.
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Q5. A trader sells certain article at 10% loss but he weight 850 gram instead of a kg. Calculate his
actual profit and loss percent.

TF ATIRT 10% T 9 §F 9 I9dT § AT a8 TH [ & Fo1T 850 TTH IS FLdT gl S+ qedqaT
T 3% g wiasra i omT )
(@) 57
(b) 67
() 4
18
(d) 8-

Q6. The price of an Apple laptop is 25000. A trader sold it at 10% discount. At the time of
preparing bill he charged 14% GST. Find the selling price of laptop paid by customer.

TH T AT HT AT 25000 FIT gl TH AR 7 T 10% Fe I 94971 e T9 i3 997 397 14%
SHUEEr TRMAT| ATEF GIT A9 & e spra g ¢ /s g %1 9ar1 a9

(a) 51000

(b) 25650

() 25000

(d) 25600

Q7. A started a business with Rs. 30,000. After 4 months B joined them with Rs. 40,000. C joined
them after some more time with Rs. 50,000. If C gets Rs. 15,000 as his share at the end of the year
out of total profit of Rs. 49,000. How many months after B joined the business did C join?

A ¥ 30,000% % 97T TH A9 & 471 4 A1 & I1< B, 40,000 FIC & T ST [ ATAT g1 TS <
9T & 912 C, 50,000 % % 91 399 =T gl If< 49,000 TIC & T ATH § § I & 3iq@ & C FI Iq fged
&7 H 15,000 €T I8 1A gl B FAGET § AT g & fhaq a8 912 C Haam § AT gar?

(a) 2

(b) 4

(c) 6

(d) None of these / 78 & &Iz Ag!

Q8. A Merchant wants to sells his stationery at 30% profit but one day his friend visited his shop
and Merchant sold him goods at Rs. 1020 less then decided selling price and there by he lose 4%.
Find the price at which the trader sold his goods.

TH AT AT LAAL T 30% ATH I =T ATEAT §, AThT Tk faT STHT Ieq Sqehl I I 4T 3K
T 7 3T 77 7Y U s 490 & 1020 FIT 9% 997 3K SH 4% T §5| SATIR T 947 91 67 o0
T AAT?

(a) 2880

(b) 2630

(c) 2520

(d) 2420
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Q9. Simran bought a pen, a marker and a book for 1880. She EEVISEIT3

sold all at 20% profit ,10% loss and 50% profit respectively. Bilingual
She noticed that selling price of all stationery are same. =
Calculate cost price of a book.

W ¥ 1880 €T ¥ UH U, UF AT 3R & fahare @<t 9« SSC CGL TIER-II

FHE: 20% ATH, 10% BT 3 50% T 9 99 97 3T 39+ 3@t

Toft Tt 1 AT goa 90T €1 TF 5 &1 77 qF A7 H PREMIUM
(a) 580 85+ TOTAL TESTS
(b) 630

(c) 480

Validity : 12 Months
(d) 320

Q10. A person Hariya, when sell a goat for 2800, loss occurred is double profit earned when he sell
it at Rs. 3400. Find the cost price of goat.

T A T<h GRAT, T T o<t HF 2800 § AT &, A7 I g g1 38 3400 TIA § 9+ UL Y ATH & IR[HT B
T T AT ToF AT IS0

(a) 2300

(b) 3200

(c) 3400

(d) 3600

Q11. In an examination, a candidate obtained 32% marks and failed by 16 marks. Another
candidate obtained 36% marks which is 10 marks more than minimum necessary marks to pass.
Find the passing percentage

TH TOET |, TH SHIRAR 7 32% 3 I 67 ofiT 16 =i & Sr%er 31 AT, =T SHAIaTC ¥ 36% % I8
R ST o e F 0 AR asTF S & 10 o qfAF g, 9 yiaad a1
3229

13

6
34 . %

(a)

(b) ;
36 - %

3

(c)
A 34 3 %o

Q12. If price of the ticket of Padmavati movie increases by 40% and number of seats reduced by
10% then find percentage change in income ?

T gqradt T & fese f Fiwa 40% 9 STt § 3T et i g=ar F 10% F FHt gt §. a1 1w § whaera
TRET ATT AL

(a) 24%

(b) 26%

(c) 30%

(d) 36%
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Q13. Average age of a couple is 25 years at the time of marriage. After 3 years, they have a 2 years
old baby. The average age of the family now is

faTg % W TE O T SHEd g 25 A9 g, AT A q1E, ST 2 TH KT IFT 8147 8. AT TRAT 6 e g
T §?

(a) 29 years/ad

(b) 19§ years/ad

() 17§ years/dq

(d) 20 years/a™

Q14. In a khan’s family of 8 adults and some minors, the average consumption of Suffola oats per
head per month is 10.8 kg; while the average consumption for adults is 15 kg per head and for
minors it is 6 kg per head. The number of minors in the family is

8 I S FF ATARI 6 @ IRAR §, I 718 T A6 GIRT THIAT Aieq 6 aa @aq 10.8 Frems
&; TafF qaent % R siea guq 15 Frarm wia =afte & s Amantenn & R ag 6 e wiv sxfe @)
gfEaR # e AmaTierT 8§27

(@) 8

(b) 6

()7
(d)o9

Q15. In the production of a Ford car three types of costs are involved. Cost of raw material,
expenditure on labour and miscellaneous costs. Ratio of expenditure on these cost in any year is 4
: 3 : 2. In the next year cost of raw material increased by 10% expenditure on labour increased by
8% and miscellaneous expenditure decreased by 5%. Find the percentage rise in the cost of car.

HIS FHIX & IcATaT § AT TR Hl AR AT T 81 Fg AT I AWM, 97 I @4 &< fAfaer arra) fBFf
St 9 H ARG 9T AT T ATATT 4: 3: 2 Bl A I Fig AT it ARG A 10% Ft ITE g2, 5% W 8% # I
gS 3l fafag =1 # 5% it FHt ) 1T 6t wrra 7 wiaera gfa F1a L.
(a) 6%
(b) 8%
() 10%
(d) 5%

TEST SERIES

Bilingual
Special Offer

Q16. The average marks of 50 students in an examination was
65. It was later found that the marks of one student had been

wrongly entered as 83 instead of 38. The correct average is? SS C c G L TI E R_I I
T e # 50 faenfHi & siea siw 65 3. q1 § Jg I 4T F uw

I & il &l 38 F a9y 83 fore T wam am ot siraa F 82 PREM'UM
(a) 63.9 85+ TOTAL TESTS
(b) 64.5

(c) 64.7 -

(3) 64.1 Validity : 1 Month
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Q17. In a class of 50 students there are 22 girls who scored an average of 35 marks in the test.
What is the average marks of the boys if the class average is 42 marks?

50 =il i war &, 22 wsfFat 7 2w # siaaw 35 s T R it war F1 siea 42 6w g aF IR F
T st /4T 82

(a) 50

(b)52.5

(c) 47.5

(d) 55

Q18. The average of 8 numbers is 20. The average of first two number is 15% and that of the next
three is 21%;. If the sixth number be less than the seventh and eighth number by 4 and 7
respectively, then the eighth number is

8 TEATSH FT e 20 §. TEAT & ATl T T 15%; & 3 3ETet i weArent #°v shww 21148, A w5
AT TAET ST ST HAT § FHA: 4 3T 7 FH §, AT AT €&AT AT Fe.

(a) 18

(b) 22

(c) 25

(d) 27

Q109. If each edge of a cube is increased by 25%, the percentage increase in the surface area is:
IS 99 F T&T ha1e & 25% it Iig it AT g, AT 9 A% § Traera Ihag T L

(a) 56.25%

(b) 156.25%

(c) 112.5%

(d) 25%

Q20. Find single discount percentage equivalent to three successive discount percent of 10%,
30% and 50%.

A w0 Fe TAAT 10%, 30% 3 50% F T THel Fe TTaerd AT Al

(a) 65.10

(b) 68.5

(c) 70.5

(d) 40.9

Q21. a and  are the roots of quadratic equation. Ifa + =8 and a - 8 = 2\/ 5, then which of the
following equation will have roots a* and *?

o 3 B e wfiaor % g &, 9 a + B = 8 3R - B = 24/5, R Ruffya # & fw whiswr 9o of
ST B* g7

(a) x*-1522x + 14641 =0

(b) x* +1921x + 14641 =0

(c) x*-1764x + 14641 =0

(d) x* + 2520x + 14641 =0
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Q22. If a and b are the roots of the equation Px* - Qx + R = 0, [N ENS-113
then what is the value of (1/a%) + (1/b?) + (a/b) + (b/a)?

af a 3 b FHFT Px* - Qx + R=0 F YA 5, ffer
(Q2—2P)(2R+P)
(@) mg_;;;mm SSCCGL TIER-II
(b) qz_ziﬁzzm; ENGLISH LANGUAGE
PERE
(c) @R 2Re2D) 20 TOTAL TESTS
G S S

Validity : 1 Month

Q23. If x* - 16x + 59 = 0, then what is the value of (x - 6)* +
[1/(x - 6)°]?

IfE x2 - 16x+ 59 = 0, AT (x - 6)2 + [1/(x - 6)7] FT TTH AT <

(a) 14

(b) 18

(c)16

(d) 20

Q24.1fx =y -z, thenx®-y* + 2% is

Ife x =y -z, A X3 - y® + z° T 9 F4T GHM?
(@) o

(b) 1

(c) 3xyz

(d) -3xyz

Q25.

If a +b +c +d = 4, then the value of
1 1 1 1 iS
(a—1)(b—1)(c—1) (b=1){c=1)(d—1) (e=1)(d—1)(a—1) (d—1)(a—1)(b—1)

afe a+b+c+d =4,

1 1 1 1
(a—1)(b-1)(c—1) = (b=1)(c—1)(d—1) (c—1)(d—1)(a—1) = (d—1)(a—1)(b—1)

(@0
(b) 1

(c) 4
(d) abcd-1

& AT AT FL

Q26.
Ifp= ]ﬁ (p = 0), then the value of p + 153 is

ﬂﬁp=ﬁ[p>0],ﬁp+iﬂmﬁ1ﬂ'aﬁ:

(a) V51
(b) V53
(c) V54
(d) V52
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Q27.
pr—i_i:q—i_% =r+§[wherep#q#r),thenp+q+risequalto

afe p+é=q+%=r+§[aﬁp¢qﬂ]- ar ptq+r PR & WR @

(@)1

(b) both +1 & -1 / +1 3f¥ -1 AT
O+

(d)+3&—>

Q28.

3mn
Ifmx+ny=1landnx+ my=——
Y y 2m2+n”*

then (x? + y2)(2m? + 2n?) is equal to

g mx + ny = 1 siwnx + my = 2;:11]13,

a (x2 +y)(2m? + 2n?) FT AT 5T F TR 7
(@o

(b)1

(c) 2

(d)8

Q29. If A and B are the roots of the equation Ax* - A%>x + AB = 0, then what is the value of A and B
respectively?

I A 3T B GHIH0T Ax? - A% x + AB = 0 & T g, q7 HHLT: A 3T B FT HIT AT HL

(@)1,0

1,1

(c)0,2

(o1

Q30. x and B are the roots of the quadratic equation x? - x - 1 = 0. What is the value of a® + $3?

o 3R B fEETT FHIFr k% - x - 1 = 0 F qA §. of + B FT AT FAT &7

(a) 47

(b) 54 TEST SERIES
(c) 59 Bilingual
(d) 68 Special Offer

SSC CGL TIER-II

QUANTITATIVE APTITUDE
20 TOTAL TESTS

Validity : 1 Month
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